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EXdES —1|ZER3TH5&19 81,100 83.500] 89.200] 25| 30| 68[o<I& 1.%n
XdES 2| fE A4S 93,800]  89,000] 88,600 59 | 51| 0.4 [D<IZ 4 2kn
EXdES -3[&ER2TR15%5 80,700 87.500] 08,600 00| 84 127 [D<I& 1.2%n
XdES -4 S B EFER4033F 35} 35,000 30,800] 29,800] —13.2 | -12.0 | -3.2 [#E YD 2 Tkm
XdES 5| XF EBF)I02801% 23,300 21,200 20,600 9.0 | 9.0 | 2.8 [&F 4 Tkn
EXdES 6| K EIT H6ET 49,200 46,500] 45,400] 9.1 | 55| -2 4 [Wr&%FHE 3 5kn
EXdES 7| 7E M3 T B 8%&2] 51,700 50,400] 48,800 3.5 | 2.5 | -3.2 [D<I& 5. 8kn
EXdES 8| AT EATUAA04TE 22,400]  20,600] 20,100 9.7 | -8.0 | 2.4 [5=i& 4 8kn
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T8 1|E& 7 BT BF#NL27192%12 51,500  59,200] 75,900 1.7 | 15.0 | 28.2 |[<F# 900m
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